
Exercice 10.3
Soit:

In =

∫ 1

0

xn · ln(1 + x) dx

(1)

I0 =

∫ 1

0

1 · ln(1 + x) dx

= [x · ln(x + 1)]10 −
∫ 1

0

x

1 + x
dx

= ln 2 −
∫ 1

0

x

1 + x
dx

Or:

x

1 + x
=

x + 1 − 1

1 + x
= 1 − 1

1 + x

Donc:

I0 = ln 2 −
∫ 1

0

(1 − 1

1 + x
) dx

= ln 2 − [x− ln(x + 1)]10
Donc: I0 = 2 ln 2 − 1

(2)

In =

∫ 1

0

xn · ln(1 + x) dx

= [
xn+1

n + 1
· ln(1 + x)]10 −

∫ 1

0

xn+1

n + 1
· 1

x + 1
dx

=
ln 2

n + 1
− 1

n + 1
·
∫ 1

0

xn+1

x + 1
dx

(3)

x2

x + 1
=

x2 + 1 − 1

x + 1
= x− 1 +

1

x + 1

1



2

(4)

I1 =
ln 2

2
− 1

2
·
∫ 1

0

x2

x + 1
dx

=
ln 2

2
− 1

2
·
∫ 1

0

(x− 1 +
1

x + 1
) dx d’aprés (2) avec n = 1

=
ln 2

2
− 1

2
· [
x2

2
− x + ln(1 + x)]10

I1 =
1

4


